‘WgAY  ET'89F Hosoduryaddoy WoLani 3 :213h4 wedogudu ou 0JoLY
ey Zg'0T sogoduiaddon WoLank > :e1anA wedogudu ou 0J0LY
: WeN]  bSi = 9, 1971 19008 YOHUOUOX AdALedauwaL eH exgoduiyaddoy
173 suHamiseadu Yowday
AE— 7 ! :Adosouor ou eLanded Houday
{ IWghR AWDHTEAI OU WISHHELMAIDET 'BUBLMIOHOULDL WIRg0)
¢ {e1HaHOgE 10) WrIdaHE MOBOULBL 13hA B8 MISHHE. 10 fueny AWaHTRdS OU 30HHELMRDDED ‘MMIdBHE MOSOUUIL OBLIDHALO)Y
] NOLAD :AWanvads ou elanded ouday
& <) ] \ | v 00’0 - 00'0 E 00'0 000 00'0 00:00 66210 T T
LG50 mumﬁ ., VEH i iv B W 00 - 000 - 000 00 000 00:00 66°Z10E HOWOW EH BONMLRD BUHEERNOL)
; i . — - p— T (vex]) 381D/ (uex ) oD Df (ewdpn | (eW)En | (P | (LEW (L2 ()T swada ‘eLelf
L LTAL
16"+ 000 000 16'vZ 00'0§ €T'89€ 00'0 ET'B9E 00'0 00°0 ¥2'09E 000 S8'LVE £8°S5pT 896081 00'80% aJoLp
151 £ - b7 3 ST'69 & S9'1Z = 59'1Z - i 61'1Z = 00'S 00°Z 0E'0 68°89 61'69 9b'0Z $5'G8 01901 - 00'¢T S9HTRdD)!
’ e g . " . 7 . e | . = e " " pr—
I8'T 18'T ‘ 7’69 - 65'9Z - 65'9Z - - 10°9Z 000 00°S 00 1E°0 F1°69 SH'69 ZE'ST 06'58 [44919 = 00'¥E 91'S0ET
09°1 09't & 0£'69 = 95'€T = 95'€Z < . $0'ET 000 00'S 00z 1€'0 96'89 £Z'69 8E°2C 8£'98 91’601 = 00'vZ 91'50'2Z
9’1 9€'T = £8'89 = 9207 = 97’02 £ = 78’61 00°0 00's 002 8Z'0 0£'89 86'89 LT'6T 9v'98 £9°50T % 00'v2 91'S0°1Z
£¢'T £5'T 2 ¥6'99 = 9z'1z = 87'1¢ e = 78'0Z 000 00'S 00’2 €0 29'89 £6'89 £1°02 6798 99901 3 00'vZ 91'50°0Z
€1 £F'T - 87'69 = 10’12 a 10'12 8 £ 85°02 000 00°S 00’ | 2o E1'69 0’69 78°61 60°/8 16’901 . 00'vZ 91'S0'61
62°1 67'T 5 SE'69 - £0°61 < £0'61 = - £9'81 000 00'S 002 10 | 0169 Tb'69 £6'£1 ¥0'/8 £6'50T 5 00'¥Z 915081
e PH'T = £0'69 = SE'TT = SE'TZ & = 16'0Z 00'0 00S 00° 8Z'0 £8'89 ST'69 61°02 8698 £9'901 3z 00'v2 915041
65'T 65'T = $0'69 = EP'ET - EV'ET = = £6'22 00'0 00's 00'L £z'0 8’89 TT'69 Llg <4 18°98 50'601 B 00'vE 91'5091
75T 28’1 ” 8169 - 6v'7C - 6b'2C - 4 1022 000 00°s 00’z | 8z'0 6’89 [44:] PE'1Z 66'98 £€'801 z 00'vZ 9T'50°ST
8E'L 8€'T z 91’69 = 9£'0Z " 9€£'0Z % 2 16'61 000 00°s 002 | 0£'0 68'89 61'69 €260 0’48 £2'901 z 00'%Z 9T'50°%T
65T 65°T z 0£'69 = ez = TH'EC " 2 16'2¢ 00°0 00 00z 62'0 90°69 SE'69 €17z 90°48 61601 i 00'7Z 9T'50°ET
£S°T £5'T = 60°69 = 57T = £5'2T = = 022 000 00S 00'4 £€°0 84’89 1169 [43g¢4 S7'L8 £5'801 % 0072 91'S0°ZT
Eid] H'T = SE'69 = 8’17 = 8v'1Z o z 1012 00°0 00's 00'Z SED 86'89 ££'69 87°07 55'18 £8'101 5 00'vZ 9T'SO'IT
5L T 7 8'69 = 08°07 = 08'07 = = 9€'07 00’0 00's 002 ££°0 6069 2v'69 £9'61 9’8 £T°E01 £ 00'v2 91°50°0T
85'T 86T i 88'89 % 9E'ET = 9E'ET = = 4822 00'0 00's 00'Z 00 £9'89 $6'89 S0'2Z P6'Z8 66'P0T = 00'¥2 S1°50°60
671 6C'T T £6'89 = 91’6l = 91’61 = 2 €L'8T 000 00's 00'Z ZE'0 69'89 10°69 06°L1 43 Z1'101 g 00'v¢ 91°50°80
Hu bl ol Teit. = £8°89 = S6'LT 5 S6'L1 z 5 65°L1 00'0 00’s 00 0£D #9'89 v6'89 1491 LT'E8 86’66 s 00’72 91°'50°£0
uen] “UeN e | (=] ) ] FEEN L "GAAW QAW 3 L 1 (=0 Zrol | cHopi D 2 ] L L 1 Jeh
‘mge O ECry el cuen 281y | 'mgoady | ‘vl ‘€L | wwoup | 2mIAD A €A ‘WP Pl ‘EW wuoLod) zd Td ‘1p ‘TL IL ‘Wp ‘TN "I OH L iRl
a-dLououuaL R ———— (z-81) D81 13hk (T-8) SMHILLOLO 13hK
22mg0 9707 ’S0"EZ OU 910Z"S0" /0 2 UondaU MISH1BhL0 uMMAIaTadu e auHaugadLou a0HIBhHnLYED)
80'vE=2819 0="10U"X21D 0="AHz89 $9'76=109 1LAD/1 (*1Ao7dD) IsYoxoed BiHdogololy
6+80°0 =dd28uD) =dy2as¥%aId oehfuey | ‘(oendd) uieAdeH a1aHdogooL|
898T°0=2010 ="10U"XaLD) ='1H280) L0E°0=10D Jeh/ueY | ‘uAEAdieH a1aHdoso.o |
(8XU-7U)u7 W-(8XU-TU)L TW=0) (043U (8XU-7U)e7W-(8XU-TUNW TW=0) (BWHE [WLAGOIUE MISHLBhIRA
:yuHauser-dgoad|| 'dgosduowda =XBWo) 1015 :dewotrooed ((gA)vLMUTOL dL
‘BuHaLgerdgoady :*dgoaduowdal =Xews =uiwe ‘deworoxoed (piW)og)wdun-de
‘suHIUBRY dgoady £-L-1111 *dgoaduowda) 0 =XBWH ZL'0 =uwe 7 £-WEdU :deworoxaed ((Ew)oal T-di
:suHIUEel dgoady L0-d1lULy "dgoaduowdal Sy =Xewo 1'n =uwo 7€ £-WEdU :daworoxoed :(zw) diHiedg)
‘smHaLEeT dgoad) 10-dLLLY :"dgoaduowdal Sp =Xews 1'0 =uWD 7€ £-WEdU :daworoxoed :(TW) drmoievoy

19°ZT =D2dd ‘axL

oF 19H3d380U € 1AL |dogudy)

1(PWIXD) WK
14'9150-(3)~-887 70221018

0£/051 pmdeds

{E1AA D OHLI9WBO0D a1eaudLendded

{ELAA TO)
JEJ+0MD :BLahA IREX

HoBaws L

:xeumed 8 [9auxde ‘HhOLAD 1 3198008H

B8BLLOZ N £-1A8 1URLALDUKISG
:1900gMdU SISHHIVSOHRLOA

BRHQAALXARYY :BUHIROILHTOL BWaXD
90-£Lb-€TE (218) :HORLRL
1-99 pHIMMAQe] Dadwy ivodld
I'8£0°6966 ‘dosolof
9T0Z UeW 2£ €] AA wedogudl Ou MMHBUGALOUOUUAL O 13hi0)

T-£ MMNIBOXAGD NMHROLI
KELHOW tuxeddr), 000 suheenHeido semoeaniing)
281+0ND / 1-99 eHunMAQeg ‘1dAgUaL3L-1iHED "1 Dadly
BHOWEJ 0JOY¥IFIH ZIMM :LHIHOGY




